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MONEY NOTES

Is money the root of all evil?

Is the lack of money the root of all evil?

Money is anything that is generally accepted as a means of final payment. 

Money characteristics 


Medium of exchange – use it to buy things 

store of value  - consumption decisions over a time horizon 

unit of account – like pounds, inches… it measures value

Things that have been used as money.

Life without money.

A barter system

A cashless society

What problems would exist if society did not have cash?

freedom

dependency on electricity

dependency on credit

every move can be traced


white collar crime

What would be the benefits of a cashless society?

Illegal activity would be easier to monitor


Drugs


Gambling


Other organized crime would suffer

theft

Monetary aggregates

M1consists of (1) currency outside the U.S. Treasury, Federal Reserve Banks, and the vaults of depository institutions; (2) travelers checks of nonbank issuers; (3) demand deposits at commercial banks (excluding those amounts held by depository institutions, the U.S. government, and foreign banks and official institutions) less cash items in the process of collection and Federal Reserve float; and (4) other checkable deposits (OCDs), consisting of negotiable order of withdrawal (NOW) and automatic transfer service (ATS) accounts at depository institutions, credit union share draft accounts, and demand deposits at thrift institutions. Seasonally adjusted M1 is constructed by summing currency, travelers checks, demand deposits, and OCDs, each seasonally adjusted separately. 

Currently about $2.8 trillion outstanding, $1.2 trillion in cash. 
[image: image1.png]FRED -~

8

3,200

2,800

2,400

2,000

1,600

1,200

800

400

0

1980

— M1 Money Stock

1085

1990

1905

2000

2005

2010




M2 consists of M1 plus (1) savings deposits (including money market deposit accounts); (2) small-denomination time deposits (time deposits in amounts of less than $100,000), less individual retirement accounts (IRA) and Keogh balances at depository institutions; and (3) balances in retail money market mutual funds, less IRA and Keogh balances at money market mutual funds. Seasonally adjusted M2 is constructed by summing savings deposits, small-denomination time deposits, and retail money fund balances, each seasonally adjusted separately, and adding this result to seasonally adjusted M1.

Currently about $11.4 trillion outstanding
Discontinuance of M3

On March 23, 2006, the Board of Governors of the Federal Reserve System will cease publication of the M3 monetary aggregate. The Board will also cease publishing the following components: large-denomination time deposits, repurchase agreements (RPs), and Eurodollars. The Board will continue to publish institutional money market mutual funds as a memorandum item in this release.
Measures of large-denomination time deposits will continue to be published by the Board in the Flow of Funds Accounts (Z.1 release) on a quarterly basis and in the H.8 release on a weekly basis (for commercial banks).

M3 does not appear to convey any additional information about economic activity that is not already embodied in M2 and has not played a role in the monetary policy process for many years. Consequently, the Board judged that the costs of collecting the underlying data and publishing M3 outweigh the benefits.
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Why does the Federal Reserve Bank track the monetary aggregates?
The hypothesis is that the growth of the monetary aggregates (M1, M2 and in the past M3) is correlated with the growth of prices (CPI, inflation)
http://data.bls.gov/cgi-bin/dsrv
http://video.foxnews.com/v/1130804038001/will-economy-ever-recover#/v/1130624869001/new-steps-to-boost-economy/?playlist_id=86858
http://www.federalreserve.gov/releases/h6/current/
The relationship between money and inflation. 

The relationship between price inflation and wage inflation

http://www.sjsu.edu/faculty/watkins/russianinfl.htm
	Year
	Annual

	1980
	290.8

	1981
	286.14

	1982
	281.84

	1983
	287

	1984
	288.73

	1985
	284.96

	1986
	285.25

	1987
	282.12

	1988
	279.04

	1989
	275.97

	1990
	271.03

	1991
	266.91

	1992
	266.43

	1993
	266.64

	1994
	268.66

	1995
	267.05

	1996
	268.17

	1997
	274.02

	1998
	280.9

	1999
	283.79

	2000
	284.78

	2001
	284.58

	2002
	288

	2003
	288

	2004
	286.66

	2005
	284.84

	2006
	287.87

	2007
	290.61

	2008
	287.86

	2009
	293.86

	2010
	297.36

	2011
	294.79

	2012
	294.31

	2013
	295.51


http://www.inflationdata.com/inflation/inflation/Money_Supply_and_Inflation.asp
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http://www.econbrowser.com/archives/2006/05/m2_and_inflatio.html
http://seekingalpha.com/article/181627-the-m2-inflation-correlation
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http://www.federalreserve.gov/pubs/supplement/2008/08/table1_10.htm
http://www.federalreserve.gov/releases/h6/
Money moved from M1 to M2 does nothing to the economy, but it decreases M1. 
_______________________________________________________________________
http://inflationdata.com/Inflation/Inflation/Money_Supply_and_Inflation.asp
Notes on the Creation of Money

http://www.financialsense.com/contributors/matthew-kerkhoff/qe-printing-money-inflation
Money can be created by

1. printing of currency by the Federal Reserve Bank

2. lending of money by banks

1. If the U.S. Treasury needs money the Federal Reserve Bank can print it for them. This action is inflationary. 

The US Treasury needs money, so they issue a US Treasury Bond. One potential purchaser of the bond is the Federal Reserve Bank. For simplicity, let’s say the Federal Reserve Bank pays for the bonds with money; then, new money enters the system. 

2. Banks are required to hold a certain percentage of their demand deposits as reserves (vault cash or deposits at the Fed). 

Assume that the reserve requirement is 10 percent.

     Bank A




 Bank A

 
   Cash 1000 
   DD 1000


RR 100
DD 1000








ER 900


The bank has $900 available to lend. So they loan it to customer A. Customer A spends the money at Best Buy, who also uses Bank A. Best Buy deposits the money into their checking account.



     Bank A




    Bank A






The bank has will continue to lend as long as they have excess reserves. 



     Bank A




    Bank A






This process continues as long as there are excess reserves to lend. When excess reserve are $0 then total deposit creation has reached its peak. In other words, the bank needs more reserves to make more loans. 

If the reserve requirement is 10 percent then $100 in reserves will support up to $1000 in loans. How do we know that? 

$100 is 10 percent of $1000!

The formula to determine total deposit creation is 

TDC = reserves * 1/rr

Where 1/rr is known as the money multiplier

Using our numbers…

TDC = $100 * 1/.10 = $1000

The money multiplier is 10. Therefore, every dollar of reserves can support $10 of loans. 

Since demand deposits are considered M1, and M1 is considered money, then Bank A is creating money when they create a loan.

Questions
What if no one wants to borrow money?

What if no one wants to lend money?

What is the optimal amount of money in society?

How much is too much?

How little is too little? 

Is inflationary pressure dependant on what people spend their money on?

If people spend their money on goods and services “real assets” what happens to prices?

If people spend their money on stock and bonds “financial assets” what happens to prices?

What is wealth?

What is velocity?

What is inflation? What causes inflation?

What are lags? The time it takes for a change in one variable to impact another variable. For example, if M1 increases on January 1, 2013 it takes a while for the new money to impact the banking sector; then, it takes a little while for the goods market to be impacted. Therefore, an increase in M1on January 1, 2013 may impact inflation on January 1, 2014. This would be an example of a one year lag between a policy change and its affect on the economy.

What are lead indicators? When an economic measure provides information about future economic activity. For example, new building permits signify an increase in new construction. 
